Subject: Re: reverse problem
Posted by Mark Hadfield on Fri, 04 Nov 2005 04:05:26 GMT

View Forum Message <> Reply to Message

David Fanning wrote:

> Haje Korth writes:

>

>

>

>> Hm, this works fine for me on IDL 6.2, Windows XP.
>

>

> |'m pretty sure Bob is working on a Macintosh. :-)

Oh well, on a Macintosh it's quite reasonable that reverse([1,2,3,4,5])
would give [1,1,1,1,1].

See your smiley and raise you one :-) :-)

Mark Hadfield "Kei puwaha te tai nei, Hoea tahi tatou"
m.hadfield@niwa.co.nz
National Institute for Water and Atmospheric Research (NIWA)
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